1. Возвести в степень:
  (а × в)²; 

(4c)²;  (-c)³;   (2х × с)³;  (-3m × n)²;  ([image: image2.png]


)³;  (3[image: image4.png]


)³

     2. Упростить: 

а)  [image: image6.png]


 × (m³)[image: image8.png]


   б)  ([image: image10.png]


)³× (у³)[image: image12.png]


    в)  (а² × а³)[image: image14.png]


 × а 

      3. Вычислить:

а)  ([image: image16.png]


)²/[image: image18.png]410



    б) 5³ × (5³)²/[image: image20.png]


    в)  ([image: image22.png]


)²/[image: image24.png]


 × 4 

      4. Найти значения выражения:
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 +[image: image28.png]


 +[image: image30.png]


Х²+Х ;  при  Х=-1 

